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(i) variable costs per unit
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(iii) fixed costs
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(b) Describe the following terms.

(i) Relevant costs
(2)
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(i) Sunk costs
(2)

(Total for Question 1 = 18 marks)
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(b) Calculate the following variances for March.

(i) Material usage

(3)

(i) Material price

(i) Labour efficiency
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f w
One of the directors of Thalassa Ltd has stated:
"The secret of good profitability is keeping control of material and labour costs!
(c) Evaluate whether the labour costs have been controlled during March, giving
possible reasons for the variances.
(5)
(Total for Question 2 = 22 marks)
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N
The supplier of Material TX47 has offered a 5% discount if Halimede Ltd increases the
size of its orders to 18 000 kg per order.
(d) Complete the table showing the costs of ordering in quantities of 3 000 kg and
18 000 kg.
(7)
Order size 3000 kg 18 000 kg
$ $
Purchasing costs
Ordering costs
Holding costs
Total costs
Workings
(e) Advise the company if it should change to the increased order size.
(1)
y,
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(f)| Explain t\ko disadvantages of|an ingkfguiﬂ inventory management system.
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(b) Calculate, for March, the:

« marginal cost of producing one hat
« absorption cost of producing one hat.

(6)
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(c)| Prepare a|statement, for March, of profit or loss, in columnar format, using:
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(b) Explain two actions that could be introduced to encourage the employees to
follow the controls.
(4)
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(i) production capacity ratio
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(iv) production volume (activity) ratio.

(Total for Question 5 = 18 marks)

TOTAL FOR PAPER = 100 MARKS
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